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Maths Challenges

¢is times larger than 1.
12is times larger than 6.
20is times larger than 5.

20 S times smaller thanh 5.

20is times larger thah 2.

Match the bar models to the statements.

Write the missing statement.

irls
9 |:| There are 4 times as
boys [T many boys as girs
irl
giris l:l There are 3 times as
boys C 1L 11 many boys as girls.
girls |:|
Tl s s

Use the clues to work out which child used which scales.

Eva hos twice as much as Alex.
Dexter has 9 times as much as Alex.
Annie has 3 times as much as Eva.

Tommy has twice as much as Eva and 4 times as much as Alex.



